Name: Date:

CHAPTER

Negative Numbers and
the Number Line

Lesson 2.1 Negative Numbers

Write a positive or negative number to represent each situation.

-

. Aloss of $180

2. 3floors below the ground level

3. 200 feet below sea level

4, A withdrawal of $2,500 from a bank account

5. A deposit of $5,200 into a bank account

6. A drop in temperature of 4°F

7. 16°C below zero

8. If 8 miles denotes 8 miles due north, what denotes 5 miles due south?

Write the opposite of each number.

9. 6 10. =75 1.

Complete each number line by filling in the missing numbers.
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Name: Date:

13, <+—o—— ———— ———— ——t—
-30 4 -27 4 A —22 A
14, <~ ——————— ——— ——t—
-14 =12 p -8 4 -2 4 2 A
15, < ———— ———— ———— ——>
po2 o A A

Draw a horizontal number line to represent each set of numbers.

16. —-4,0,3,-1,5, =5

17. -8,-2,-5,0,-7,3

Draw a vertical number line to represent each set of numbers.

18. Numbers from 1 to =12

19. Odd numbers between —10 and 3
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Name: Date:

Draw a number line from —7 to 4. Then use the number line to compare each pair
of numbers using > and <.

-2 22. -4 0

20. 7 D 5 21. 1
23. 3 D -

Complete each inequality using > or <.

26. —1.SDO 27. 4D -5 28. 6D -10
29. —7 D -9 30. -9 D -3 31. —12

Order the numbers in each set from least to greatest.

o
[\
s
|
w

-1 25. -6 1

]
]

—_

32. -25,0,48, —110, 23, and —200 33. 8, 201, =210, =509, 52, and —20

Order the numbers in each set from greatest to least.

34. 120, —45, 10, 90, —80, and 55 35. 42, —327, 25, —24, 108, and —61

Answer the question.

36. Jose and Ling are given 50 points at the beginning of a board game. During
the game, Jose lost 120 points and Ling lost 80 points. Who has fewer points?
Write an inequality statement to compare their results at the end of the game.
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Lesson1.4

1. 64 2. 81

3. 169 4. 400

5. 729 6. 961

7. 14 8. 16

9. 30 10. 18

11. 24 12. 22

13. 144, 196, 256, 324, 400, and 484

14.

2X2%x5%x7x%x7x%x5
=2x5%x7)x2x5x%x7)

20. 3729 = 9

21.

9 x 9 = 81 square inches

Length of the cube = $[2744 = 14 inches
Length of the wire =

12 edges X 14 inches = 168 inches

Brain @ Work

1.

Answers vary. Possible answers:
a) 4+4+4+4=2
b) 4+4+4) +4

=3
=(22><5><7)2 ) 4+4x@4-4)=4
=70 d @dx4+4+4=5
NJ2x2x5x7%x7x%x5=70 e) b+4+4+4=6
15. [744 = 12 f) 4+4-4+-4=7
_ A g) 4+4+4-4=38
12 X 4 = 48 inches .
16. 529 hy 4+4+4+4=9
17. 1.600 2. LCM of 6, 7, and 9:
18-2’1 2Xx3x3x7=126
19: 25 126 — 1 =125
20. 121 + 9 = 130 125+6=20R
_ 125 + 7 =17 R6
21. 36 x 10 = 360
125 + 9 =13 R8
22. 28,900 .
23. 841 The number is 125.
24. 310
25. 75 | Chapter2 J
26. a) 126 =2x%x3 x3x7
90 =2x3x3x5 Lesson 2.1
Longest length > 2 x 3 x 3 1. -$180 2. =3
9 9 Z 18 contimet 3. —200 feet 4. —$2,500
_ — o centimeters 5. $5,200 6. —4°F
b) 126 + 18 =7 o :
90 = 18 = 5 7. —16°C 8. —5 miles
2 x.5 _ 55 9. -6 10. 75
= 9V squares 11. 100 12. -6, =4, -2, 3
Lesson1.5 13. =29, =26, =23, =20
1. 8,000 2. 1,728 14. —-10, =6, 0, 6 15. -3,0, 3, 6
3. 4,913 4. 5,832 16, —o————+————O——F—— O+
5.8 6. 13 ' -5 -4 -3 -2 -1 0 1 2 3 4 5
<o+ 1+t o>
7. 16 8. 21 17. -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3
9. 1,331 and 2,197 18 19
10. 3,375 =3 x5 x (3 x5) x (3 x5) : ] : 3
= (3 x 53 =153 o 5
3[3,375 = 15 » 1
11. 729 — 25 =704 o 0
12. 16 + 512 + 8 = 80 _3 1
13. 343 X 9 — 125 = 2,962 4 -
14. 1,000 + 216 — 125 = 1,091 s s
15. 11 16. 14 -
17. 19 18. 9 + 729 = 738 -6 —4
19. 8 X 7 X 9 x 49 x 3 -7 -5
=2X2X2%X3%X3X3xXx7x7x7 -8 -6
=2%x3X7)Xx2%x3%x7)x(2%x3x%x7) -9 -7
=(2%x3x 7P =42 -10 -8
%/8x7x9x49x3=42 -1 -9
-12 -10
92 Answers
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20.
22.
24.
26.
28.
30.
32.
33.
34.
35.
36.

AV AANNANNA

21.
23.
25.
27.
29.
31

AV VAVYV

—200, =110, =25, 0, 23, 48
—-509, —210, =20, 8, 52, 201
90, 55, 10, —45, —80, —120
—327, —61, =24, 25, 42, 108
Jose 2 50 — 120 = -70

Ling = 50 — 80 = —-30

-70 < =30

Jose has fewer points than Ling.

Lesson 2.2
-ttt

|
(e}

|
~

~ 0
- 0

TLEVVAQRN®N

c)

d)

f)

—-6-5-4-3-2-1 0 1 2 3 4 5 6 7 8

2. 3

4. 9

6. 100

8. 802

10. <

12. <

14. >

16. —37
Aisha b) Sonya
155 + |—185| = 340 meters
|—185| — 162 = 23 meters
below sea level
155 — 80 = 75 meters
|—23| + 75 = 98 meters
Divers; 75 — |—=23| = 52 meters
Helicopter to divers =
155 + |—-23| = 178 meters
Submarine to divers =
|—185| — |—23| = 162 meters
Submarine; 178 — 162 = 16 meters
Divers, birds, helicopter, submarine

Brain @ Work

1.

a)
b)

c)

Friday has the greatest difference
in temperature: 12°C.
Monday has the least difference
in temperature: 5°C.
Highest = 5°C;
Lowest = —10°C
Difference = 5 + |—10]
= 15°C

d)

Lesson 3.1
1. 6 2. 18
3.5 4. 10
5. 2 6.1
7. 20 8.9
9.5 10. 14
2 4
11. 2§ 12. 27
13. 20 14. 17%
3 1
15. 3Z 16. 105
2
17. 8 18. 3
8 1
19. T 20. 15
1 1
21. 2Z 22. 4§
1 7
23. ‘I§ 24. 5
.3 _
25. 6 = i 8
Gina has 8 pieces of ribbon.
3 _
26. 3 7S 16

27.

28.

It will take Eve 16 days to drink
3 gallons of milk.

1 sheet—> 12 + = = 36

3 sheets &> 36 x 3 = 108
There are 108 pieces altogether.
80 . 10 _

T 16

There are 16 children.

1

wl
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